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BT—401 (AT/ CS/EE/EX/EI/FT/IT/MI) (CBGS)
B.Tech., IV Semester
Examination, May 2019
Choice Based Grading System (CBGS)
Mathematics - I11

. - Time : Three Hours
Maximum Marks : 70

Note: 1) Attempt any five questions.
fopegl aTa W9l Pl gef DI
ii) All questions carry equal marks.

Teft el & A 37 £
iii)In case of any doubt or.dispute the English version
question should be treatedas final.

fpeft off TR & g v fare i fRAfT § ST HIST
& T Y 3T FET SR

1. a) Find a root of the following equation using bisection
method correcto three places of decimal: |

e f(x)=x=3x-5
qS-TFg fafer grT FreferRad FHiesvur @1 ves gt ST fob
SITTd & e FAMT dep el &, ST i

f(x)= x°—3x-5

b) Solve the algebraic equation X +2x*+10x—-20=0 by |
Newton - Raphson method.

diomforefiar wfiaeor x° +2x% +10x-20=0 ﬁm@—
Yt R gRT gt SRR ‘
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2. a) Finda polyndmial which takes the following values:
x |13 (57|91

f(x):| 3 14 | 19| 21| 23| 28
and hence compute f(x) at x=2

I TEE B ST PR R 7 FrfRad @
x |13 [s]7 911
Foo:l 3| 14| 19] 21| 23] 28 ‘ P

3R 59 ol x = 2 WR fx) <l 7O B |
b) Given log,, 654 =2.8156, log,,658=2.8182,
log,, 659 = 2.8189, log;, 661 = 2.8202.

Find by using Newton’s divided difference formula, the
value of log;, 656.

fezm T € log,, 654 22.8156, log,, 658 =2.8182,
].Oglo 659 — 28189, loglo 661 = 2.8202.
log;, 656 T T e fearsss e T g v ifsRl|

3. a) Findthefirstand second orderderivativeof f(x)at x=1.5if
e Td g DI & fix) S sradall dl x=1.5 Rea @

FRAMRS -
x: 1.5 | 20 | 25 | 30 | 35 | 4.0
f): | 3375 | 7.000 | 13.625 | 24.000 | 38.875 | 59.000
. L . L dx
b) Apply Simpson's = rule, to evaluate the integration 01+
X

R 5 P G e jo— o s AR
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4. a) Solve the followings equations by Gauss-Seidel iteration
method:

10x+y+z:12;x+10y+z:12;x+y+IOzi——12
fr=tforRac el @) Tid-wfieet TRIGRT fafer gRT &
BRI
10x+y+z=12 x+10y+z=12; x+ y+10z =12

b) Solve the equations 10x+y+z=12;2x+10y+2z=13
and x+ y+5z="7 by Gaus$_=J ordannethod.

TR 10x+ y+z=12; 2x+10y+z=13 3R
x+y+5z=7 P NG AR GRT & IR

5. a) UsePicard’s method to approximate the value of y, when
x = 0.1, 0.2 and 0.3, given that y = 1 at x = 0 and

d
-d—i); =1+ xy, correct to.three decimal places.

B P A A, 19 x = 0.1, 0.2 31K 0.3 3 R faepr
Ry 3 T g Freford| R geM g x=0WR y=1% 3R

éX:ny,zzsmaaéseﬂ:rwﬁaaﬁg@Eﬁﬁ@l

dx

b) Using modified Euler’s method, find an approximate value

dy
of y, when x=0.3, given that —ci_ =x+yandy=1, when
x%= (. ‘
Mifewgs gor faft & s gRT y 6 T Feerd T

qF @Y x =03 & RR s SRR S feam m@r e
d

—ié =x+yW@y=1,99 x=0.

BT-401 (AT/CS/EE/EX/EVFT/IT/MI) (CBGS) , PTO D




[4]

6. a) Find L{sint t3cos2u+ B+ 3¢ — e3’}

: 2 3
T hIfoR L{smt+3coslt+t3+t3/2+3e ‘e ’}

' b) Find L{S—T—t}

sin ¢
oo IS L{—t—}

7. a) Find L ——S——}
) {34 +s52+1
s Y L {4_5‘7_}
s +s7+1

b) Solve the following differential equation
Y (£) =3y (1) + 2§(t) = 4t + &, when y(0) = 1 and
y”(0) = —1. (By Laplace transformation)
ferfoTRac Srdenct-1a HHenvor

Y/ () =3y )+ 2y(0) =4t +e”, Safs y(0) =1
V(0) =< ~1, % gt A} @
(GRT ATATH TR

8. a) Find the mean and variance of Poisson's distribution.
wITor fv e GIRT HIE U4 TRIRUT <p) 1T IR |

b) InaBinomial distribution the mean and standard deviations

are 12 and 2 respectively. Find n a'nd'p.
qrAIfeTe feedieus o ey wd W RAges we: 12
Tg 281 nTd p & S Hifor) T
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